N

Cetka(1l,1)

Ctpanuua 1 n3 28

A




L




LCETK (1,3)

Ctpanuua 3 n3 28




LCETKB (1,4) / / CTpanvua 4 n3 28



Cetka(2,1) CTpanuua 5 n3 28




LCETKa(Z, 2)

\ \ CTpanuua 6 13 28




LCETK (2,3)

CTpanvua 7 n3 28




j\]CeTKa (2,4) Ctpanuua 8 n3 28



Cetka(3,1)

CTpanuua 9 n3 28




j\]CeTKa(3,2)

Crd

aHuua 10 n3 28




LCETK (3,3)

CrpaHuua 11 n3 28




LCETKB (3,4) Crpanuua 12 u3 28



Cetka(4,1)

CrpaHuua 13 u3 28




j\]CeTKa (4,2)

paHuua

14 n3 28




5cM*5cMm

LCeTKa(4,3)

CrpaHuua 1513 28




LCETKB (4,4) CrpaHuua 16 u3 28



CeTka (% , 1) / Crpanuua 17 n3 28




j\]CeTKa(S,Z)

CTpanuua 16*143 28 \




N

Crpanuua 19 us 28 / /




j\]CeTKa (5,4) Ctpanuua 20 us 28



Cetka(6,1) \ \ Crpanuua 21 n3 28




j\]CeTKa(G,Z) / /

CTpaHuua 22 3 28




LCeTKa(G,Z%)

CrpaHuua 23 u3 28




LCETKB (6,4) CrpaHuua 24 u3 28



LL

WOQL

14

CTpaHuua 25 u3 2




—/

110 0D POKOU quUeld[]




LCeTKa (7,3) Crpanuua 27 3 28




LCETKB (7,4) CTpaHuua 28 13 28



